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= . Objective: Find the key features of graphs from their equations. Draw graphs from
Section: 7.4 1 : ¢ K€ es ol gray eireq ’ graphs irc
their key features. Match graphs to their equations.

For each function, fill out the requested information. Put a star by any information that can be seen just
from looking at the equation. Graph the equation using its key features. Graph at least 5 points.

A. f(x)=x"-3x—4

1) Form: S‘\‘ahd Qrd
va-_| . b -3 € --

3) Direction of gpening: (A
Q1S post \IU
4) Zeros: =1y 3 Y y

5) x-intercepts: (—l ,0 ),(4,0 )
6) y-intercept: Ll (01""0

7) Axis of symmetry: ¥= 2

3
8) Vertex: C 2 LB)
15"
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B. y=-2(x+3) -2

1) Form:k Vem
¥

2)a= ‘2, k 2-3, k:—?.

3) Direction of opening: Awﬂ
QA s hegetve
4) Zeros: =3% | y

5) x-intercepts: none

6) y-intercept: ( (0] 3 ‘ZD)

7) Axis of symmetry: X= "'3

8) Vertex: ("’ 3. “2\
Shmﬁ(bv{m"‘k\here:
= UxadY =20
X +4. +L

j|nt lek x=0
-2(0+3}-2--20




sec math 2 7.4 notes.notebook February 04, 2020

C. f(x) == (x+2)(x-6)

1) Form: _+actoy.ed
Da- 3, 2 -2, 4 -l

)
3) Direction of opening: dWh

a 1% gative
4) Zeros: =2 5 lo
v
5) x-intercepts: (-2:0) (6,0) 10
6) y-intercept: £°,3> . é g(x)
7) Axis ofsymmeny:)(‘-z { i 3{:5
Showsworkhere: R e )
2Levro o K_Z_o NESEEENE/SNEEENEERE
X -1 to *lo yu\\' Led x=0
X= "1. X-‘Q -é‘ (04.2)(0_ b\ =3
vevr X
x=(P*L) QY o
Pl 2 2

J
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D.y=x"-9 "
x2+0%x~9 ve:‘l;_o?-_q
1) Form: Shﬂdﬁrd a=1 h=0 k=9
Da=_] , b = O, c - -9
3) g.ir.:agtigi a:s);f a&ining: QP |
4) Zeros: 3;‘3 o _10::._. -

5) x-intercepts: (5, (h ('3;0)

6) y-intercept: (0 “q l

7) Axis of symmetry: X2 O 10 || 58 1 N5
8) Vertex: (O, ”Q\_ SERNRSSL &
Show work here:
X*-9:=0
(x-'ﬂgx{-'b\ =0

X430
-3 =)

X=-3
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E. f(x)=3x"-6x-9

1) Form: S"'ﬂ'\dﬁ rd

Da-2 . b--b., ¢ --9

3) Direction of opening: _ {4 P
@ 1% Positive

4) Zeros: _=| 3 3

5) x-intercepts: ("l;o)(s'o3

6) y-intercept: (o 2 ‘q\ “:1_

(o,¢ U

7) Axis of symmetry: X= |

8) Vertex: | -1

Show work here:

3y ~box -9 )

3(xE-2x -3) ==
(X ' [ 73|14+

X X Ix

=% | =3% =3

-—
)

vertex
b 6
o0 %)
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1) Form:
2) a = K=o Yokt —

ctoced

3) Direction of opening:

—o( B+4)

- o) -y
4) Zeros: P 1
down
5) x-intercepts:
054
6) y-intercept:
7) Axis of ?P?O '6\ )
X1s oI symmetry: T BT
(0,0§ EEEEEENEE SN NEEENEE x |y
8) Vertex: NN
Show work here: [ 1 | 'l ,ﬁ
G, b 2
-5 : °lo
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EXAMPLE: Given the graph, write the equation.
A. Write the equation of the graph in factored form.
Direction of opening: dbwh

Find the zeros: = l; 3

r.1="|

B. Write the equation of the graph in vertex form.

Direction of opening: g P
Vertex: (% ’-2 3

e h= k= =2

Equation in vertex fc—rm:\j‘: 2 ( X 3?"2
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C. Write the equation of the graph in standard form.

Direction of opening: ]4 ,)

Find the zeros: = ‘ _; "s
a= I p=_—1 ¢=_=9
Equation *m %‘m‘tored form: \\j - l( X"" l)(X+ 5)

x%’ﬂ T T T T T g ] TTT]
isﬁg

Equation in standard form‘.\} -x + 6)("' 5

D. Write the equation of the graph in factored form.

Direction of opening: B P
Find the zeros: 2 ' - L"

a=_ 1 p= 2 q=~l+

Equation in factored form: 33 \?, (X -1\ (x-|—l.|‘)
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E. Write the equation of the graph in vertex form.

Direction of opening: M

Vertex: %

a="3 h = O k = 5
7"

2
Equation in vertex form: ¢f= = X- +.5

F. Write the equation of the graph in standard form.

Direction Dfopemug:_@b_ | ] P | |

Find the zeros: -2. 5 I

T N

Equation in factored form: 57- - ! ‘ xﬂ)(X“'l) H -
Equation in standard for:%‘ = ‘ & 1+ H &"' "') ’ x * 1’
s
X
=X *-Yx-H X

*2 2%,
——

(%
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